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Question paper consists of two sections, Part A and Part B

Part A consists of Objective type questions of 20 marks.
Part B consists of Subjective type questions of 30 marks.
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Part-A
Fill in the blanks

is the loudness and softness of a speaker’s voice.

is the subset of Machine Learning.
Normal IT cycle ends with the
Al system cannot data.

During the early period, the research in the Al system was restricted to

State True/ False
A Communication cycle does not include social media Outlets.
Alan Turing coined the term Artificial Intelligence in 1956.
Data modelling is the third stage of Al project cycle.
The variable name roll no and ROLLNO are same.
Lists in python cannot be modified while tuples can.
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What is the datatype of print {type (25))? T

a) float b) int c) string d) integér.
Which of the following activity is not a part of Evaluation and Deployment stage?

a) Evaluation b) Tuning c) Review d) Exploration

What is the output of the following code — print (4%8)

a) 4 b) 8 c) 10 d) 16

Which of the following steps comes first?

a) Problem scoping b} Problem Identification c¢)Bothaandb d) None

The decision to purchase the cheapest computer in the shop will be a decision.

a) Structured b} Unstructured c) Semi —Structured d) None

Which of the following is NOT a part of Natural Language Generation?

a) Text Planning b) Text Analysing ¢)Bothaandb d) None

The important factors of communication are —

a) Content : b) Process c) Context d) All of these

The barriers occur due to factors which are outside out body and mind.

a) External b) Internal c)Bothaandb d) None

With which of the following activity does the Al project cycle start?

a) Brainstorming  b) Resource allocation ¢) Problem Defining  d) Goal Setting
Which of the following technology is predominantly used by Amazon Alexa?

a) Image Recognition b) Speech Recognition c) Robotics d) Neural stems
‘ Part-B

What is meant by Communication Cycle?
Differentiate between Machine learning and algorithm.

Define Al. Mention any two fields closely related to Al.

Write the data types in Python.

Give the names of various fields which are closely related to Artificial Intelligence.

Define the three domains of Al.

Write short note on Big Data.

Write a program in python to find the area of a circle with radius 3.5 cm

How is an Al project cycle different from an IT project cycle?

Write a program in python to find the largest number among the three entered numbers.
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DELHI PUBLIC SCHOOL, BHILAI

DATE:16.09.2021 MIiD TERM EXAMINATION {2021-22) Time : 3 Hours
CLASS : X Sub : ENGLISH LANGUAGE AND LITERATURE M.M. : 80

.......................................................................................................................................................................................

General Instructions:
1. This paper is divided into two parts: A and B. All questions are compulsory.
2. Separate instructions are given with each section and question, wherever necessary.
Read these instructions very carefully and follow them.
3. Do not exceed the prescribed word limit while answering the questions.

PART —A (40 Marks)
READING (20 Marks)

1. Read the passage given below :

1. These days, it is not unusual to see people listening to music or using their electronic

gadgets while crossing busy roads or travelling on public transport, regardless of the
risks involved. I have often wondered why they take such risks: is it because they want
to exude a sense of independence, or is it that that they want to tell the world to stop
bothering them ? Or is it that they just want to show how cool they are ?

2. Whether it is a workman or an executive, earphones have become an inseparable part of

our lives, sometimes even leading to tragicomic situations. The other day, an electrician
had come to our house to fix something. We told him in detail what needed to be done.
But after he left, I found that the man had done almost nothing. It later turned out that he
could not hear our directions clearly because he had his earphones on.

. Hundreds of such earphones addicts commute by the Delhi Metro every day. While one

should not begrudge anyone their moments of privacy or their love for music, the fact is
‘iPod oblivion’ can sometimes be very dangerous. Recently, I was travelling with my
wife on the Delhi Metro. Since the train was approaching the terminus, there weren’t too
many passengers. In our compartment, other than us, there were only two women sitting
on the other side of the aisle. And then suddenly, I spotted a duffel bag. The bomb scare
lasted for several minutes. Then suddenly, a youth emerged from nowhere and picked up
the bag. When we tried to stop him, he looked at us, surprised. Then he took off his
earpieces, lifted the bag, and told us that the bag belonged to him and that he was going
to get off at the next station.

We were stunned but recovered in time to ask him where he was all this while.
His answer : he was in the compartment, leaning against the door, totally immersed in

the music. He had no clue about what was going on around h1m When he got off, ear
plugs in his hand, we could hear strains of the song.

On the basis of your understanding of the passage, answer the following guestions:

(1)

(ii)

(iii)

(iv)

(1x10=10)
The reason for people listening to music or using their electronic gadgets while crossing
busy roads or travelling on public transport is that they ....... :
(a) do not want to be disturbed  (b) want to show how fashionable they are
(c) want to show their independence (d) All of these
Why had the electrician done nothing ?
(a) because he hadn’t heard them. (b) because he was listening to music.
(c) because he was not interested in the job.
(d) because he couldn’t understand what needed to be fixed.

The electricianhad ............... ;

(a) Done his job (b) done almost nothing

(¢) fixed the defective appliance (d) understood what was to be done

Which of the following correctly lists the tone with which the author had written the
passage ?

1. Humorous 2. Contented 3. Serious 4. Informative 5. Resentful

(a) land 5 (b) 2and 4 (c)3and 35 (d) land 4

Contd...2
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v)

(vi)

(vii)

(viii)

(ix)

)

ey Dws

‘iPod Oblivion’ can be defined as

(a) the popularity of music  (b) the alertness of people in metro
(c) the carelessness of people while listening to music

(d) the forgetfulness of listening to music

The author says that we should not resent people ... 5

(a) indulging in their love for music (b) wanting privacy
(c) Both (a) and (b) (d) Neither (a) nor (b)
The bomb scare happened because the duffel bag was

1. designated 2. unclaimed 3. familiar 4. suspicious 5. Eerie
(@land2 (b)3andS5 (c)2and4 (d) 3 and 4

The passengers were stunned because

-----------

(a) The youth was careless , (b) the bag contained a bomb

(c) the youth had not been visible anywhere near the bag earlier (d) None of the above
The word ........... is an antonym of absorb.

(a) exude (b) bothering (¢) commute (d) stunned

The word ........... is not the synonym of begrudge.

(a) grudge (b) envy (¢) stunned (d) resent

2. Read the passage given below :

I,

Global warming has taken on alarming proportions since the mid 20th century and is
continuing, Scientists have found that the main cause of these changes lies in the rapid
increase in greenhouse gases .The greenhouse gas emission was primarily caused by

forest fires, deforestation , and in this century, the emissions are arising from the
burning of fossil fuels .

. With increased global warming, weather conditions are becoming extreme. Areas

where floods or droughts were unknown, are now witnessing the same due to global
warming and greenhouse gas emissions , thunder storms and cyclones are aiso
increasingly frequent . Winters are also getting shorter and summers are hotter .
The main sources of greenhouse gases are :
i) Waste Water (2.8%)
Changes in temperature leads to sea level rising and storms and droughts being
caused . These changes result in extreme weather conditions which lead to a
larger amount of untreated wastewater, affecting our climate.

ii) Transportation (13.1%)
The increase of vehicles on the road, leads to greenhouse emissions as they are
powered by petrol and diesel and release carbon and other pollutants, into the air.
iii) Forestry(17.4% )
Millions of acres of forests are cleared every year, for wood- based products,
making paper, for farming and ranching, or for residential and industrial areas.
iv) . Agriculture (13.5%)
The practice of large land holdings negates the effects of agricultural production.
Keeping animals in large numbers produces methane, and the use of antibiotics
in animal farming is harmful for humans.
V) Consumerism / Industry (19.4%)

‘Our craving for the latest gadget and have it delivered at our doorstep contributes
to greenhouse emissions and 80% of land and material use.

. Most of the carbon dioxide that people put into the atmosphere comes from burning

fossil fuels such as oil, cold, and natural gas. Cars, trucks, trains and planes all burn
fossil fuels.

The top ten emitters accounting for over two third of annual global greenhouse gas
emissions. China is the biggest emitter at 29.4%, followed by the United States at
14.3%, the European Union at 9.8% and India at 6.8%. Russia follows close behind, at
4.9% and Japan at 3.5%. Thus, to fully tackle the climate crisis, we will need deep
reductions in all countries and across all sectors.

Contd...3
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On the basis of your understanding of the passage,

(a) In the line, ‘Global warming has taken on
does not mean.

answer the following questions: (1x10=10)
alarming proportions...” the word ‘alarming’

i) disturbing  ii) disquieting  iii) disbursement iv) dismaying
(b) Our craving for the latest gadget contributes to
1) . lessening of greenhouse emissions

ii) 80% energy production
iii)  80% of land and material use
iv)  None of the above

(¢) One of the elements for the rise in
i) burning of fossil fuels
ii) rising humidity
iii)  vehicles powered by solar energy
iv)  livestock farming

(d) Choose the correct option that lists th
1. Maya lives on a hillside farm and

firewood for cooking and heating.

2. Rama is a city dweller who cycles to work but lives in a high rise building.
i) 1. is a conservative villager. 2. 1is a responsible city dweller.
i) 1.is a carefree villager . 2. is a sports cyclist .
iif) - 1. is a conservationist villager. 2.is a conservative city with dweller.
'iv) - l.isa energy protector. 2.is an energy consumer.

(e) Based on your understanding of the passage, choose the options that list the
characteristics of weather changes .

New areas having floods and droughts,
Weather conditions becoming pleasant elsewhere .
Thunder storms occur rarely.
Cyclones are increasingly frequent .
- Winters are hotter and shorter. _
Causes of global warming are unknown.
i) land4 (ii)2 and 5 (ii)3and 6 (iv)4 and 5
(f) The survey of the agriculture sector clearly showed that
i) keeping animals does not affect the production of methane
it) . antibiotics is as useful to animals as it iS to humans
iii)  large land holdings have no effect on agriculture production
iv) use of antibiotics in animal farming is harmful for humans

(g) According to the survey given in the passage, the percentage of pollution from waste
water was

i) 194% (i) 13.5% (i) 17.4%  (iv) 2.8%
(h) The opposite of the word ‘negate’ is

i) Nullify

ii) Make ineffective

iii)  Support

iv)  Neutralize '
(1) Choose the option that is not true.

global warming in this century is

e correct answers for the following :
grows her food without fertilizers, but uses

" 5 e LR e

i) Millions of acres of forest are cleared every year, for wood-based products.

ii) The top 10 emitters account for over 2/3 of annual global greenhouse gas
~emissions.

iii)  Increased global warmin

g has led to extreme weather conditions in the Northern
Hemisphere ,

iv)  The increase of vehicles on the road leads to greenhouse emissions,
() The main sources of greenhouse gases are ;
1. Waste Water
2. Transportation
3. Forestry
4. Afforestation
i) I,Zand3 (i) 1,2 and 4 (iii) 2,3and4  (iv) 1, 3 and 4

Contd...4
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LITERATURE (10 Marks)
3. Read the extracts given below and answer the questions that follow: ' (1x5=5)

He stalks in his vivid stripes
The few steps of his cage,
On pads of velvet quiet,

In his quiet rage.

" He should be lurking in shadow,

Sliding through long grass

Near the water hole

Where plump deer pass.
(i) What is the rhyme scheme of the given stanzas?

(a) abcb; abcb (b) abcb; abed (c) abed; abed {d) abed; abcb
(ii) Identify the poetic device used in the last line of the second stanza.

(a) Oxymoron {b) alliteration (c} simile {d} metaphor

(iii) The fact that the tigeris ‘stalking the few steps of his cage’ tells us that he is
{a) restless  (b) reckless () resilient  (d) relaxed
(iv) The tiger should be lurking in the shadow ;
~ {a) for his prey (b) for taking rest (c) for leisure (d) for scaring others
(v) ‘Shadpw’ here, refers to the shadow of |
(a) the tiger (b) long grass {c) water hole (d) deer

4, Answer the following questions by choosing the most appropriate option from the ones
given: (1x5=5)
(i} How does Nelson Mandela define the meaning of courage?
(a) Triumph over fear (b) Triumph over love
(c) Triumph over selfishness (d) Triumph over poverty

(i) Choose the option that lists the possible feelin

gs of the poet prior to the experience
shared in the poem ‘Dust of Snow’.

(1) cheerful (2) disappointed  (3) curious (4) demotivated
(5) thankful (6) gloomy {7) impulsive
(a)1,3&7 (b)2,486 (c)5&7 (dy1&3

(i) Anil made money ‘by fits and starts’ means that he

(a) deemed it fit to start investing money. (b) started earning money in the recent past.
(c) received money intermittently, (d) put his money to use frequently.

(iv) What would have been the Postmaster’s reaction after receiving Lencho’s second letter?
(i) sorrowful (i) gratitude (iii) disappointment  (iv) elation (v) shock
(@liiandv  (b)iandii (c)iiandiv (d) iii and v

(v) The narrator describes Tricki as a “pathetic little animal”
p

. The use of the word ‘pathetic’
indicates that the narrator

(a) was very fond of Tricki. {(b) thought Tricki was contemptible. |
(c) pitied Tricki’s condition. (d) believed Tricki’s health was deteriorating.
; GRAMMAR (10 Marks)
5. Fill in the blanks with the correct option from the ones given below. {1x3=3)

The history of man is replete {a) crime and folly. Wars between nations, religious
prosecutions, ethnic cleansing and other forms of genocide (b) a heavy toll on

human lives. The Spanish conquest of South America was (c) by the extinction of
millions of ‘natives’ through killings and disease.

(a} (i} with (i) of (iii)as (iv)at

(b) (i) have taken {ii) has taken (iii) was taken (iv) taken

(c) (i) accomplished {ii) accompanied (iii} associated (iv) allowed
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6. Read the conversation given below and complete the passage that follows by choosing the

most appropriate option from those given and writing it neatly in your answer sheet with
the correct option number. (1x3=3)

Jatin  : Will you watch a movie with me tonight?

Vikram : | would have but I need to finish my English homework.
Jatin  : Then | shall ask Ravi.

Jatin asked Vikram (a) . Vikram replied that he would have but
(b) his English homework. Jatin then said (c) Ravi.

(@) (i) thatif he would watch a movie with him that night. ~
(i) if he will watch a movie with him that night.
(iii) if he would watch a movie with him that night.
{iv) would he watch a movie with him that night.

(b) (i) I needed to finish (i) he needed to finish
(iii) that he needed to finish (iv)he had to finish

(c) (i) he will ask (i) he would ask (iii) he should ask (iv) he shall ask

7. Fillin the blanks by choosi_ngthe correct option from the ones given below. (1x4=4)
(i) I finish my essay on time. | plan to work on it all weekend.
(@ may (b) might (cywill  (d) could
(i)  She spoke English. It was nearly impossible to understand her.
(a) few (b) less (c) little (d) alittle
(i) Tim was very upset yesterday because he that he his wallet
(a) realized/will lose (b) had realized/lost (c) realized/had lost (d) has realized/lost
(iv)  Although every student in my ciassl the schedule, one of my students
- always late to the class.
(a) know/come {b) knows/coming (c) knows/comes  (d) know/comes
PART-B (40 Marks)
WRITING (5 Marks)
8. Attempt ANY ONE of the following questions in 100-120 words. (5 marks)

(A) You are Nikhil/Nisha staying at 53, Jubilee Hills, Hyderabad. Last week, you bought a new
laptop from Compu World, Hitech City, Hyderabad with a warranty of two years. Your laptop
worked well for a week. However this week, the laptop didn’t even switch on .Write a Ie_tter
to the dealer complaining about the problem and requesting him to get the defect rectified.

OR
(B) You are Nikhil/Neelam, a customer of Airtel Broadband. Write a letter to the Customer Care

Department, Airtel regarding the poor service of Internet connection. You are a resident of
A-30, Defence Colony, New Delhi.

9. Attempt ANY ONE of the following in 100-120 words._ {5 Marks)

{A) Vishal came across the following newspaper clipping about dengue and malaria epidemic.
Write a letter to the Editor of a local newspaper emphasizing the need to create awareness
of the spread, prevention and treatment of such diseases. Use the hints given below.

Bhilai : Twenty people died and several have been hospitalized in the Durg district due to the
spread of dengue and malaria. Doctors are of the opinion that lack of hygiene is the main
reason for the outbreak of such an epidemic.

OR
You are concerned about the increased incidents of road accidents involving school children.
The main reason is the reckless driving habits of children. You decide to express your views in
the form of a letter to the Editor of ‘The Hindu’ discussing this problem. Also suggest
measures to combat it. Use the hints given below.
Owning vehicles at a young age—fashion statement—reckless driving to compete with friends
~don’t adhere to the traffic rules—don’t wear helmets— must enforce use of public transport—
parents to monitor-schools to make strict rules.

Contd...6
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10. Answer ANY TWO questions in 20-30 words each, from (A) and (B) respectively.  (2X4=8)
(A) (any two) (2x2=4)

(i) How many fuel tanks were there in the plane? How much fuel was left?

(ii) When did a monstrous terror seize the Seagull? For how long did it last?

(iii) What was in the note that Miss Mason got from the Principal’s office? Who had written that note?

(B) (any two) ' (2x2=4)
(i) What ‘extra’ did Mrs Pumphrey start to give Tricki and why?

(ii) What lies had Hari told Anil so that he takes him in as a helper?
(iii) Briefly describe Herriot’s days of content.

11. Answer ANY TWO questions in 40-50 words each, from (A) and (B) respectively.  (3x4=12)
(A) (any two) (3x2=6)

(i) What was Mr. Keesing’s reaction after reading Anne’s poem on the third essay that he
had given to her to write?

{ii} Why did the poet not offer the boy money to buy another ball?
{iii) What does ‘ice’ stand for? How is it sufficient to bring destruction?

(B) {any two) . - (3x2=6)
() Why was Hari nervous when he returned to Anil’s house?

(i) How does Dr. Herriot treat the dog?
(iii) Did Hari like working for Anil? Give two reasons in support of your answer.

12. Answer ANY ONE of the following in 100-120 words. = (5)

(A) 'Humanity still exists’- This is what we get to know after reading ‘A letter to God’ in which
firm faith of a poor farmer in God and helpfulness of the post office employees are aptly
depicted. Discuss this in detail.

OR :
The Hundred Dresses-l and Il exposes the stereotypical mindset of the people and the non

inclusive nature of the society of those times. Substantiate with relevant examples from the
- text. ' ¢

13. Answer ANY ONE of the following in 100-120 words. (5)

(A) Excess of everything is bad. Comment in the wake of Mrs Pumphrey’s love for Tricki.
: i .
- (B) Anil’s friendship brought an overwhelming change in a young thief’s life. Elaborate.
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DELHI PUBLIC SCHOOL, BHILAI

DATE : 21.09.2021  MID TERM EXAMINATION (2021-22) Time : 3 Hours
CLASS : X SUBJECT - SOCIAL SCIENCE Max. Marks : 80

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------

General Instruction :

Question paper comprises 3 sections - A, B, and C. There 34 questions in the question
paper. All questions are compulsory. Marks are indicated against each question.
Section A is History and Civics of 40 marks.
Section B is Geography of 20 marks.
Section C is Economics of 20 marks.
Objective type questions should be answered as directed.
Answer to 3 marks question should not exceed 80 words each.
Answer to 5 marks question should not exceed 120 words each.
Source based questions should be answered as directed.
Map work should be done as directed in question.

............................................................................................................................................................................

SECTION : A {HISTORY & CIVICS) (40 MARKS)

Match the following items given in Column A with those in Column B. Choose the

correctly matched answer from the options given below. (1)

(a)  The French Revolution - (1) 1780

(b) Introduction of Napoleonic Code - (2) 1805

(c) Final defeat of Napoleon in the Battle of Waterloo - (3) 1813

(d)  Silesian Weaver’s uprising - (4) 1845

ldentify the correct statement with regard to the ‘Zollverein’ from the following options.
(1)

(a) It was a measuring unit of cloth in Germany.

(b) It was a class of Traders in Germany.

(c) It was a Custom Union formed in 1834.

(d) It was the Congress hosted by the Metternich in 1815.

Study the picture and answer the question that follows: (1)
Napoleon is represented as a postman and each letter dropping out of his bag, at the
back bears the names of the territories.

What does the above picture symbolize ?

(a)  Napoleon lost territories after the Battle of Leipzig.

(b)  Napoleon gained territories after the Battle of Leipzig.

(c) Napoleon spreads nationalism in different territories one by one.

(d)  Napoleon as a postman spreading message of the French Revolution.

Who was proclaimed the German Emperor in a ceremony held at Versailles in January

18717 (1)
Correct the following statement and rewrite. (1)
There are 22 scheduled languages in the Indian Constitution excluding Hindi.

OR

India is a coming together federation and Australia is a holding together federation.

Contd...2
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Q7.

Q.8.

Q.9.

w2

Choose the most appropriate option:- (1)

In which part of the country are Sri Lankan Tamils Concentrated?

(1) North (2) East (3) South (4) Both (1) and (2)

Sinhala was recognized as the only official language by the Act of (1)
OR '

The political head of the Zila Parishad is

What was Tamil Eelam? _ (1)
OR

What is Coalition Government?

What were the economic ideas supported by the Liberals? (Any three) (3)
OR

What changes took place in France as a consequence of the Revolution of the Liberals in

18487 '

Sources are given below. Read and answer the question that follow:- (3)

Q.10.

Source: A  The July Revolution of 1830
An upheaval took place in France in July 1830. The Bourbon King was removed by the

_ liberal revolutionaries and constitutional monarchy was installed with Louis Philippe as

its head. When France Sneezes,” metternich once remarked’, the rest of Europe Catches
cold.

Source: B Liberal Nationalism

The term ‘Liberalism’ derives from the Latin root liber, meaning free. For the new middle
classes liberalism stood for freedom for the individual and equality before the law. Yet,
equality before the law did not necessarily stand for universal suffrage. Men without
property and all women were excluded from political right. |

Source: C  Frankfurt Parliament

On 18 May, 1848, 831 elected representatives marched in a festive procession to take
their place in the Frankfurt Parliament convened in the Church of St. Paul. They drafted a

- constitution for a nation to be headed by a monarchy subject to a Parliament. When the

Q.11.
Q.12.
Q.13.

Q.14.

Q.15.

Q.16.

deputies offered the crown on these terms to Friedrich Wilhelm IV, King of Prussia, he
rejected it. ' ‘

Source: A — The July Revolution of 1830 :
‘When France sneezes, the Rest of Europe catches cold’. What do you interpret from this
statement? ' |

Source: B — Liberal Nationalism

In what ways were liberals not democrats?

Source: C — Frankfurt Parliament

The Frankfurt Parliament could not achieve its aim, Why?

What were the three demands of the Sri Lankan Tamils from its government? (3)
What is Gram Sabha? Describe any two functions of the Gram Sabha. ' (1+2)
“Culture played an important role in creating the idea of the nation, in Europe”. Support
the statement with examples. (5)
Explain any five reforms introduced by Napoleon in the region under the control. (5)
OR

Describe the explosive condition that prevailed in Balkans after 1871 in Europe.

What are some basic elements of the Belgium model of power sharing? (5)
Describe any five features of federal government. s {5)
' OR '

What amendments were made in 1992 in the Indian Constitution to make the

~ third-tier of democracy more powerful and effective?

Q.17.

‘ SECTION : B (GEOGRAPHY) (20 MARKS) .
Choose the characteristics of ‘arid soil'. ' | (1)
(a) They are generally Sandy in texture and saline in nature. '
(b) It looks yellow when it occurs in hydrated form.
(c) This soil is ideal for growing cotton.
(d) These soils are made of extremely fine clayey material. :
| Contd...3
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Q.18

Q.19

Q.20

Q.21

Q.22
Q.23

Q.24

Q.25

n3dn

Which one of the following is a kharif crop? (1)
(a) Wheat (b) Barley  (c) Peas (d) Paddy _
Red laterite soils in Tamil Nadu, Andhra Pradesh and Kerala are more suitable for crops

like__ . (1)
OR :

Tea bushes require warm and moist __ free climate throughout the year.

In which of the following states biack soil is predominantly found? (1)

(a) Jammu and Kashmir  (b) Maharashtra (c) Rajasthan (d) Jharkhand

Choose the correctly matched pair. (1)

Name of the slash and burn agriculture country

(A) Milpa (1) Mexico

(B) Conuco (2) Brazil

(C) Roca (3) Venezuela

(D) Ladang : (4) Vietnam

Mention any three characteristics of 'forest and mountain soil'. (3)

Read the text given below and answer the following questions. (4)

It is the staple food crop of a majority of the people in India. Our country is the second
largest producer of rice in the world after China .It is a kharif crop which requires high
temperature (above 25 degree centigrade and high humidity with annual rainfall above
100 cm. In the areas of less rainfall, it grows with the help of irrigation. Rice is grown in
the plains of north and North Eastern India, coastal areas and the deltaic regions.
Development of dense network of canal irrigation and tube wells have made it possible

~ to grow rice in areas of less rainfall such as Punjab, Haryana, Western Uttar Pradesh and

parts of Rajasthan.

Q.1 - Which is the staple food crop of a majority of people in India?
(a)Rice (b) Wheat (c)Bajra (d)Maize

Q.2 Mention the temperature required for the growth rice.
(a) 28 degree centigrade (b) 25 degree centigrade
(c) 50 degree centigrade (d) 30 degree centigrade

Q.3 What is the annual rainfall required for the growth of rice?

(@) 100cm (b} 200 cm (c) 300 cm (d) 400cm
Q.4 What kind of crop is rice? '
(a) Rabi (b) kharif (c) Zaid (d) None of these
Explain salient features of plantation farming. (5)
OR

Enlist the various institutional and technological reform programmes introduced by the
government in the interest of farmers.
Locate and label any three items using suitable symbols on the given political outline

map of India. (3)
(a) Sardar Sarovar Dam (b) Area of arid soil {c) Largest producer state of sugarcane
(d) Hirakud (e) Largest producer state of tea

SECTION : C (ECONOMICS) (20 Marks)

Choose the correct option :-

Q- 26
Q.27

Q28.

Which of the following activities does not belong to the Primary sector? (1)
(a) Fishing : (b) Banking (c) Mining (d) Forestry

Which of the following countries has higher Human Development Index rank than India? (1)
(a) Srilanka (b) Nepal (c) Bangladesh (d) Pakistan

The total income of the country divided by its total population is : (1)
(a) Gross Income (b) Netincome (c) Per Capita Income (d) Total Income

In the questions given below , there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option:
Q.29 Assertion (A) : Sustainable development is essential for economic growth of the countries.

Reasoning (R) : Sustainable development ensures that environmental friendly measures
are adopted for carrying out production processes.
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(a) Both (A ) and (R ) are true and (R} is the correct explanation of (A).

(b} Both (A) and (R ) are true but (R} is not the correct explanation of (A).
(c) (A)is true but ( R ) is false.

(d) (A)is false but (R ) is true.
Q.30 Assertion (A) :The development of agriculture and indust
service sector.
Reasoning (R) : As the Primary and Secondary sectors develo
storage structure, banks ,insurance etc. increases.
(a) Both (A )and (R ) are true and (R ) is the correct explanation of (A).

(b) Both ( A) and (R ) are true but (R ) is not the correct explanation of ( A).
(c) (A)is true but (R ) is false.

(d) (A)is false but (R ) is true.

Q.31 Define : a) Infant Mortality Rate b) Literacy Rate c¢) Net Attendance Ratio (3)
Q32 (a) What is disguised unemployment?

(1)

ry leads to the development

p , the demand for transport,

(1+2)
(b) “The problem of under employment is not confined to agriculture.” Support
the statement with examples.
| OR
Do you think the classification of economic activities into primary, secondary and
tertiary is useful? Explain how. (3)
Q.33 Read the source given below and answer the following questions: (4x1)
The value of final goods and services produced in each sector during a particular year

provides the total production of the sector for that year. And the sum of production in
the three sectors gives what is called the Gross Domestic Product ( GDP ) of a country.lt
is the value of all final goods and services produced within a count
year. GDP shows how big the economy is. In India, the mammoth t
is undertaken by a central government ministry. The ministry, with the help of various
government departments of all the Indian states and union territories, collects
information relating to total volume of goods and services and their prices and then
estimates the GDP.

Answer the following MCQs by choosing the most appropriate answer:
() Howis GDP calculated?
{(a) The value of intermediate goods and services produced in each sector during a
particular year and the sum of production in the three sectors.
(b) The value of intermediate goods and services produced in each sector during a
particular year provides the approximate production of the sector for that year.
(c) The value of final goods and services produced in each sector during a particular
year provides the total production of sector for that year, and the sum of
production in the three sectors.
(d}) The value of final goods and services produced in each sector during last three

years provides the total production of the sector for that year.
(i) What do final goods and services mean?

(@) Production of goods and services
(b) Those goods and services that finally reach the consumers.
{c) Those goods and services that are out of reach of consumers
(d) None of the above
(iii)  In how many sectors does the sum of production give GDP of a country?
(a) Two ~ (b) Five (c) Three (d) Four
(iv) Whois responsible for collecting data for the GDP in India?
(a) Central Government ministry (b) State Government ministry

ry during a particular
ask of measuring GDP

(c) Mayor (d) Union Territory
Q.34 Why is tertiary sector also called service sector? Explain the importance of tertiary
sector? (1+4)
OR
Write a paragraph on your notion of what should India do, or achieve, to become
a developed country. (5)
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............................................................................................................................................................................................................

General Instructions :
01. This question paper contains two parts A & B.
02. Both part A and part B have internal choices.

PART - A
01. It consists of two sections I and II.
02. Section I has 16 questions of 1 mark each. Internal choice is provided in 5 questions.
03. Section II has 4 questions on case study. Each case study has 5 case based sub-parts.
An examinee has to attempt any 4 out of 5 sub-parts.
PART-B
01. Question numbers 21 to 26 are very short answer type questions of 2 marks each.
02. Question numbers 27 to 33 are short answer type questions of 3 marks each.
03. Question numbers 34 to 36 are long answer type questions of 5 marks each.
04. Internal choice is provided in 2 questions of 2 marks, 2 questions of 3 marks and 1
' question of 5 marks.

............................................................................................................................................................................................................

SECTION -1
Section I has 16 questions of 1 mark each. Internal choice is provided in 5 questions.
01. Iftwo positive integers p and q can be expressed as p=ab” and q:agb., a,b being prime
numbers, then find the L.C.M. (p,q).

02. Ifx = aandy = b is the solution of the equations x —y = 2 and x + y = 4, then find the
values of a and b.
03. How many zeros does a polynomial of degree n have ?
OR
The graph of a quadratic polynomial intersects the x-axis atmost at how many points ?
04.  What kind of a solution will the pair of equations y = 3 and y = 8 have ?
05. What type of decimal expansion will —1-% have ?

OR
If p/q is a rational number (q # 0) and H.C.F. (p,q)=1, then what will be the condition on g,
so that the decimal form of p/q is terminating ?

06. IfL.C.M.ofaand 18 is 36 and H.C.F. of a and 18 is 2, then what is the value of a 7

07.  If the sum and product of zeros of a quadratic polynomial are 0 and /3 respectively, then
find the quadratic polynomial. '

08. 5 chairs and 4 tables together cost ¥ 2800 while 4 chairs and 3 tables together cost T 2170,
Represent the given situation algebraically.

09.  The larger of two complementary angles exceeds the smaller by 16 degrees. Find the
angles.

10.  Intwo triangles ABC and DEF, £A = £E and £B = £F.Then what is the ratio J—:% equal to?

| OR
In the given figure, ZBAC = 90° and AD L BC. Prove that BD x CD=AD’.

f
D
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What is the point of intersection of the linesx —3 =0and y—5=07

Two equilateral triangles have the sides of lengths 34 cm and 85 c¢m respectively. What is
the greatest length of tape that can measure the sides of both the triangles exactly ?

‘ OR
On a Delhi road, three consecutive traffic lights change after 36, 42 and 72 sectonds. If the
lights are first switched on at 9 am, at what time will they change simultaneously ?

Ina APQR, S and T are points on the sides PQ and PR respectively such that ST || QR. If
PT=2 cm and TR=4 cm, then find the ratio of the areas of APST and APQR.

OR
If the ratio of areas of two similar triangles is 2:3, then find the ratio of their corresponding
sides.

If the sum of the zeros of the quadratic polynomial kx? + 4x + 3k is equal to their product,
then what is the value of k ?

Write the equation of a line which is parallel to v3x — v5y = 8.

If one root of the polynomial f(x) = 3x2 + 11x + p is reciprocal of the other, then find
the value of p.

SECTION - 11
Case study based questions are compulsory. Attempt any four sub-parts of each
question. Each sub-part carries 1 mark.

17. CASE STUDY -1
A Mathematics exhibition is being conducted in a school and one of the Mathematic teachers is

making a model of a factor tree. He asks for help in completing a quiz for the viewer. Observe the
factor tree and answer the following questions.

Q.1 The value of A is :

(a) 20825  (b) 15005 (¢) 56920 (d) 17429

Q.2  Thevalue of B is :

(a) 23 (b) 17 (c) 11 (d) 19
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Q.3 Thevalueof Cis
(a) 22 (b) 23 (c) 35 (d) 19

Q4  The prime factorisation of 20825 is
(a) 52 x 17 x 72 (b) 52x72x13 (c) 52 x72x 112 (d) 5 x7x17

Q.5 According to Fundamental theorem of Arithmetic, 20825 is a/an :
(a) Even number (b) prime number
(¢) neither prime nor composite  (d) composite number

Q.18 Case Study —2 In a classroom, four students Rahul, Veer, Rita and Manish were asked to
draw the graph of p(x) = ax® + bx + c. Following graphs are drawn by
the students :

Based on the above graphs, answer the following questions :
Q.1  How many students have drawn the graph correctly ?
(@ 1 (b) 2 (c) 3 (d) 4
Q.2  Which type of polynomial is represented by Veer’s graph ?
(a) Linear (b) Cubic (¢) Quadratic (d) None of these-

Q.3  How many zeros are there for Rita’s graph ?
(@) 1 (b) 2 (c) 3 (d) 4
Q.4  What type of graphs do Rahul and Manish get ?
(a) Linear (b) Parabola (¢) Spiral  (d) None of these

Q.5  Number of zeros of a polynomial is equal to number of points where the graph of
polynomial
(a) Intersects x-axis (b) Intersects y-axis
(c) Intersects x-axis or y-axis (d) None of these

Q.19 Case Study —3
There is a staircase as shown in figure, connecting points A and B. Measurement of
steps are marked on the figure. Give answers of the following questions :

"/’/{‘3’
/, o i ;
e
Q.1 The common angle in each staircase is
(a) 30° (b) 60° (c) 90" (d) None of these
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Q.2 According to which similarly criteria are staircase II & IIT similar ?
(a) RHS (b) SAS (c) AA (d) None of these

| Q.3 Which concept is used to find the distance between A and B ?
| (a) Pythagoras theorem (b) Converse of Pythagoras theorem

(c) Thales theorem (d) Converse of Thales theorem
Q.4  Distance between A & B is :
(@) V5 + V6.56 +V6.56 +V7.24 (b) V5.15 + V6.21 + vV6.21 + 7
| (@) V5 + V6 +6 ++/7 (b) None of these

| Q.5 The sum of the areas of the four staircases is :
(a) 6 square units (b) 12 square units () 10 square units (d) None of these
Q.20 Case Study -4

Daisy is feeling hungry but her mother is not at home. So she decides to try making a
sandwich for herself. She cuts the piece of bread diagonally and finds that it forms a

triangle with sides 4 cm, 4v/3 and 8 cm as shown in figure

R :\\

b

e '*/T J & Cinn M
{ Based on the above information, answer the following questions :
| Q.1 What kind of a triangle is formed ?

(a) Acuteangled A (b) Obtuse angled A (c) Right angled A (d) None
Q.2 The value of 2k is :

(a) 45° (b) 30° (c) 60° (d) None of these
; Q.3 The value of Cos?*K + Sin?K is
:5 (a) 0 (b) 2 © 1 {d) None of these
| Q4  The value of SM=1 4
=. tan?M+1 -

(@ 0 (b) i (c) ¥ (d) None of these

Q.5 Cos®*M — 1 is equal to
3 1 =1
(a) % (b) 2 (©) (d) —
PART-B

(All questions are compulsory. In case of internal choices, attempt any one).

Q.21  Express x = 0.253 as a fraction in the simplest form.

Q.22 Find the zeros of the polynomial f(x) = x2 + x — Z

OR

If the zeros of the polynomial p(x) = x2 + (a + 1)x + b arc 4 and -3, then what is the
value of (a-b) ?

Q.23 Show that the system of equations 4x + 6y = 7 and 12x + 18y = 21 has infinitely many
solutions.
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Q.24 Find £P in the given figure :

Q.25
Q.26

Q.27

Q.28
Q.29

Q.30

Q.31

Q.32

Q.33

Q.34

Q.35

Q.36

e T e

OR
In the given figure DE || BC,AD = 2c¢cm,BD = 2.5 cm and DE = 4 cm. Find BC.

\,

s ;\E‘_
X

S

D i
b ;
e

If 3 tan@ = 4,then evaluate : 3 Sinf-2CosY

I£Sin (4 + B) = 1 and Cos (4 — B) =, find A and B.
Ifa and B are the zeros of x%2 — 7x + 5, then find the value of% + ‘—g ;

Prove that 3 + 2+/5 is irrational, given /5 is irrational.

Find the value of k for which the given system of equations has infinitely many solutions
kx+3y=k—-3,12x+ky=k
OR
Solve for x and y
6x + 3y = 7xy,3x + 9y = 11xy

Cos 45°
Sec30°+Cosec 30°

Evaluate

OR
IfV3S5in® — Cos# = 0 and 0° < 6 < 90°, find the value of 6 .

Prove that the sum of the squares of the sides of rhombus is equal to the sum of the squares
of its diagonals.

Find the zeros of the polynomial 4v/3x2 + 4+/3x — 3+/3 . Also verify the relationship
between the zeros and its coefficients.

A sweet seller has 420 kaju barfis and 150 badam barfis. He wants to stack them in such a
way that each stack has the same number and they take up the least area of the tray. How
many of these can be placed in each stack? How many stacks are formed?

Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides
in distinct points, then the other two sides are divided in the same ratio.

Prove that :
cos@ Sin@

(1—-tanf) (1-Coth)

= (Cosb + Sinb)

Show graphically that the system of linear equations 2x-3y=35, 6y-4x=3 is inconsistent.
' OR

The sum of the two digits of a two digit number is 9. The number obtained by

interchanging the two digits exceeds the given number by 45. Find the number.
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DATE : 23.09.2021 MID TERM EXAMINATION (2021-22) Time: 3 Hours
CLASS : X SUBIJECT — SCIENCE _ Max. Marks : 80

General Instructions;

Q.1
Q.2

Q.3
Q.4

Q.5
Q.6
Q.7

Q.8

(i) The question paper comprises THREE sections A, B and C. There are 36-questions in the question paper. All
questions are compulsory.

(ii) Section—A PHYSICS (27) question no. 1to 13,
Section—B CHEMISTRY (26} question no.14 to 24,
Section—C BIOLOGY (27) question no. 25 to 36.

(iii) Marks on each question have been mentioned against it. All 1 mark questions contain multiple choice
questions (MCQs), very short answer questions and assertion - reason type questions. Answers to these
should be given in one word or one sentence. All questions carrying 2 and 3 marks are short answer type
questions. All questions carrying 5 marks are long answer type questions.

(vi) There is no overall choice. However, internal choices have been provided in some questions. A student has
to attempt only one of the alternatives in such questions.

(vii) Wherever necessary, neat and properly labelled diagrams should be drawn.

(viii) For the questions based on assertion and reasoning question two statements are given one labelled
Assertion (A) and the other labelled Reason (R). Select the correct answer to these questions from the
codes (a), {(b), (c} and (d) as given below :

{a) Both A and R are true, and R is correct explanation of the assertion.

(b) Both A and R are true, but R is not the correct explanation of the assertion.
{c) Aistrue, but R is false.

{d) Ais false, but R is true,

SECTION : A (PHYSICS : 27 MARKS)

The magpnification produced by a plane mirror is +1. What does this mean? (1)
Find the focal length of a spherical mirror having radius of curvature 30 cm. {1)
‘ OR

Find the radius of curvature of a spherical mirror having focal length of 60cm.

Define optical centre of spherical lens. ' (1)

Why do planets do not twinkle? (1)
- OR

Why the sky appears dark to astronauts flying in space? |

Which companent of white light is least scattered by fog or smoke, and why? | (1)

A convex lens is of focal length 20 cm. What is its power? (1)

Assertion : A pencil dipped in water tank appears to be raised due to refraction of light. - (1)

Reason : Bottom of a water tank appears to be raised due to refraction of light. .

Read the following and answer any four questions from 8 (i) to 8 (v) (4)

Lenses are objects made of transparent materials such as glass or clear plastic. They have
curved surfaces. There are two main kind of lenses. Diverging lenses are thicker at their edges
than in their centres and they make light rays passing through them spread out. Converging
lenses are thicker in the middle than at their edges and were the earliest kind of lens made.
The earliest examples of these date back two thousand years. They have been used in
spectacles to help people with poor vision see better since at least the tenth century.

(i) A student draws a ray diagram for image formation by convex lens and forms a real image
beyond its 2F. The position of the object in front of the lens in the diagram must be

, (a) at F (b)at 2F (c) between F and 2F (d) beyond 2F

(ii) A beam of light is incident through the holes one side and emerges out of the holes on the other

side of box A as shown in figure. Which of the following optical device could be inside the box?

| (a) prism (b) concave lens (c) glassslab  (d) convex lens
(iii) When we use convex lens as magnifying lens placed close to an object, the nature and size
of image is
(a) virtual, erect, diminished (b)real, erect, enlarged

(c) virtual, erect, enlarged (d) real, inverted, diminished _
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{iv) A student wants to draw diagram to show formation of real image by a convex lens. He may
choose position of object to be at

(a) infinity (b} 2F (c} focus (d) any one out of these three
(v} Parallel beam of light from a distant object, passing through a convex lens, will converge
(a) beyond 2F (b) at F (c} between F and 2F (d) between F and ©
Q.9 Read the following and answer any four questions from 9 (i) to 9 (v) (4)

Consider the setup shown in the figure. Initially about 2 litres of clean water was put in the
glass tank. A sharp image of the circular hole was obtained on the screen. Then about 200g of
sodium thiosulphate was dissolved in water and 2 ml of concentrated sulphuric acid was added
to the solution. Soon fine sulphur particles precipitated in the solution. It was observed that

blue light scattered from the sides of the tank except the side facing the screen. Red crimson
colour was seen on the screen.

(i} Scattering may depend upon
(a) colouroflight (b) wavelength of light (c) size of the scatterer (d) all of these
(ii) Yellowish colour of the sun is due to
(a) reflection of light (b) scattering of light  (c) dispersion of light (d) refraction of light
(i} The colour of sky seen from moon is
(a) black  (b) sky blue (c) blue (d) reddish
(iv) The given set up is used to show
(a) reflection of light (b) refraction of light (c) dispersion of light (d) scattering of light
{v) Scattering caused by microscopic solid particles suspended in a liquid or gas is called
(a) selective scattering (b) special scattering (c) Rayleigh scattering (d) tyndall effect
Q.10 An object is placed at a distance of 10 cm from a convex mirror of focal length 15 m. Find the
position and nature of the image. (2)
Q.11 Draw a ray diagram showing refraction of light through glass prism and label the following:- (2)
(a) Angle of deviation (b) Angle of emergence (c) Refracted ray
Q.12{a) A concave lens has a focal length of 20 cm. At what distance from the lens should the object
be placed so that it forms an image at 15 cm from the lens. Also find its magnification. (2)
{b) The speed of light in water is 2.25 x 10® m/s and that of glass is 2.0 x 10° m/s. Calculate the
refractive index of glass with respect to water.
Q.13(a) Define atmospheric refraction. How is this phenomenon responsible for appearance of stars at
higher positions as compared to their actual position? Explain using diagram.
(b) What is dispersion of light? What happens when white light is passed through a glass prism?
(c) How is a rainbow formed? Explain with the help of diagram. (5)
OR
(@) Draw a ray diagram showing the image formation by a concave mirror when an object is
placed at centre of curvature of the mirror.
(b} Which type of lens has a positive power and a negative power?
(¢} Aray of light strikes a glass slab at an angle of 90°. What is the angle of incidence and angle
of refraction?
{(d) A concave mirror produces three times enlarged real image of an object placed 12 cm in
front of it. Calculate the radius of curvature of the mirror.
SECTION : B (CHEMISTRY : 26 MARKS)
Q.14 Which of the following is a weak base (1)
" {a) Sodium Hydroxide (b) Potassium Hydroxide
(c) Ammonium Hydroxide (d) Calcium Hydroxide
Q.15 Name the acid present in tomatoes (1)
~ (A) Oxalic acid (b) Malic acid(c) Tartaric acid (d) Formic acid
Q.16 Metal oxide react with acid to form (1)
(a) Salt and hydrogen (b) Salt and water
(c) Salt and carbon dioxide {d) None of the above
Q.17 Assertion : (A) Calcium Carbonate when heated gives calcium and water. {1)
Reason : (R) On heating Calcium Carbonate decomposition reactinn take place.
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' Q.18

Q.19
Q.20
Q.21

Q.22

Q.23

Q.24

Q.25
Q.26

Q.27

Q.28

Q.29

Q.30

3

Read the following and answer any four:
On heating Lead Nitrate in a test tube Nitrogen and Lead Oxide is left behind in the test tube. (4)
(a) Name the type of chemical reaction that takes place?
(b) What is the colour of Nitrogen dioxide gas formed?
(c) The colour of the Lead lodide formed is

(1) Red (2) Blue (3) Yellow (4) Brown
(d) How many products are formed on heating Lead Nitrate

(1) Two (2) Three (3) Four (4) None of the above
(e) Write the chemical formula of Lead Nitrate.

What is tooth enamel made up of ? Write the chemical formula of it. (2)
.Name two olfactory and two artificial indicators. (2)
What happens when Silver Chloride is kept in sunlight ? Write balanced chemical equation for
the reaction. (3)
Write chemical equation and balance the following : (3)

(a) Nitrogen combines with Hydrogen to from Ammonia.
(b) Hydrogen Sulphide gas burns in air to give water and sulphur dioxide.
Name the acid and the base from which the following salts are formed. (3)
Sodium Sulphate, Ammonium Chloride, Potassium Nitrate
Name the substance oxidized, reduced, oxidizing agent and reducing agent in the following
equation. (5)
ZnO+C ———--- Zn + CO
Define oxidsing agent.
OR
(a) Metal compound X react with hydrochloric acid to produce effervescence. The gas evolved
extinguishes a burning candle. Write balanced equation for the reaction if one of the
compound formed is Calcium Chloride. Name the metal compound X and the gas evolved.
(b) Why does an aqueous solution of an acid conducts electricity ?

SECTION-C (BIOLOGY : 27 MARKS)

What will happen to a plant, if its Xylem is removed? (1)
Give the term for - (1)
(a) ‘contraction of Heart’ & (b) ‘Relaxation of Heart’

OR
How many pairs of (a) teeth & (b) Salivary gland do we have?
The pathway of respiration common in all living organisms occurs in ‘X’ & aerobic respiration
occurs in ‘Y’ in a cell. Identify X" & ‘¥Y* (1)
What may happen, if a young plant is dug up and re-planted in another place? (1)
OR
Name the chambers of Human heart that (a) contain oxygenated blood & also the
(b) chambers that contain de-oxygenated blood.
Assertion (A): The inner lining of the small intestine does not have numerous finger like
projections called villi (1)
Reason (R) : The villi increases the surface area for absorption

-Read the following and answer any four question from 30 (i) to 30 (v). (4)

Double circulation is a type of circulating system in which the blood passes through the heart.

twice before completing a full circuit of the body. Blood is pumped from the heart to the lungs

and returns.to the heart before being distributed to other organs and tissues of the body. '

(i) The figure shows blood circulation in humans with labels A to D. Select the option which gives
correct identification of label and functions of the part.

(a) B- Capillary-Thin without muscle layer and wall two cell layers thick

(b) C- Vein-Thin walled and blood flows in jerks/spurts

(c) D- Pulmonary vein- Takes oxygenated blood to heart

(d) A- Artery — Thick walled and blood flows evenly. .
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(ii) Incomplete double circulation is seen in

(a) Mammals (b) Pisces (c) Aves (d) Amphilsians.
(i) Which of the following animals shows double circulatory pathway?
(a) Snake {(b) Frog (c) Eel (d) Wh,ale

(V) Aorta (VI} Veins and Venules (VII) Arterioles and capillaries
(a) A-(V), B-(l11), C-(1}, D-(ViI) (b) A-(VII), B-(IV), C{1}, D-{V1)
(c) A- (V), B-(Hl1), C-(11), D-(VII) (d) A-(V1l), B-(V), C-(1), D-(VI)
(vi) Select the option which properly represents pulmonary circulation in humans.

. Dexygenated Oxygenated . .
(a) Left Auricle — Lungs e Right ventricle
. ; . Oxygenated Dexygenated : .
(b_) Left auricle A Lungs S e Right ventricle
; " Dexygenated Oxygenated g
(c) Blght ventricle e Lungs e Left ventricle
; . 0 d D d 2
(d) Right ventricle %’;Zte Lungs %a—“; Left ventricle
Q.31 (a) Name the components which you will observe when you focus the stomata of leaf slide under
microscope. (2)

(b) Identify the component which helps in opening & closure of stomata & how these cells
regulate the process?
OR
{a) Name the largest digestive gland in human body, and also name the digestive juice
secreted by it.
(b) How would digestion of food be affected if the duct delivering the above mentioned
digestive juice to small intestine is blocked?
Q.32 (a)Mention two common features of the respiratory organs in aquatic and terrestrial animals.
(b) Why do aquatic animals breathe faster than the terrestrial animals? (2}
: OR
(a) Name the respiratory organs of earthworm and cockroach.
(b) Differentiate between anaerobic respiration occurring in Yeast cell & Muscle cells on the basis
of end products.
Q.33 List in tabular form, three differences between arteries, veins & capillaries-helping in
transportation of blood in animals. (3)
: OR
Why and how does water enter continuously into the root xylem for transportation of water &
minerals in plants? _
Q.34 With the help of neat well-labelled diagram show different stages of nutrition in Amoeba. _ (3)
Q35 Give reasons why? {(3)
{a) Haemoglobin is the pigment which connects respiratory and transportation system in animals.
{b) During vigorous exercise, we breathe faster.
(c) Increased cutting of trees reduces oxygen level of the nature.
Q.36 Draw the sectional view of human heart and label the following parts given below: (5)
{a) chamber where oxygenated blood from Lungs is collected.
{b) Largest blood vessel in our body.
(c) Muscular wall separating right & left chambers.
(d) Blood vessel that carries blood from heart to lungs.
OR
Draw a neat diagram of the ‘Human respiratory system’ & label the following parts:
{a) The muscular flap which moves up and down to facilitate inhalation & exhalation.
(b) The voice-box or larynx.
{c} The branched tubes of wind-pipe entering lungs on each side.
{d) The balloon like sacs at the end of branched tubes.
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